3. Lemons are normally packed in bags of 5 in a market. In one day.

the grocer sells 6,304 lemons.

1. Complete these calculations.

7654:5= i a2MP¥:8= 7432:7=

al What is the smallest number of bags the grocer could have used?

b) If all the bags were full throughout the day except for the last customer's order, how many

lemons did the last customer buy?

2. Biscuits are packed in trays of 8 in a bakery. In one day. the bakery makes 7,865 biscuits. 4. Write the missing number in each calculation.

al How many full trays do they have at the end of the day?
29 ¢ =5r.4 302 + =100r2 4,090 ¢+ =511r2

) How many trays do they actually need per day and why?




